- CLASS : 12th (sr. Second..ary). . ~ Code No. 1229

- Series : SS/ Annual Exam.-2024 g ' ' :
Roll No. (3 {0214 || S|o[S| ™~ SET : D|
' ﬁli%lfﬁ |él§|[;| 19}
PHYSICS N
[ Hindi and English Mecﬁlm ]
' ACADEMIC/OPEN
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. Wwwe}%wwa—wﬁjﬁﬁwﬂ Wquq é‘f _
Please make sure that the prmted pages inh thzs qu@stzon paper are 24 in number-
" and it contains 35 questions.
. wmw#an%#me?aﬁ?ﬁ#m?#gwwﬁe%mmgﬁﬁwégwgsw
fer@y -
The Code No. and Set on the. rr,ght szde of the ques%n paper should be written by .
the candldate on the front page of the answer-book. . -

. meaﬁﬂ%@wgﬁwe%ﬁ HSFWWW?ZT@@/
- Before begmnmg to answer. a question, its Senal Number must be written.
. aﬁrmé‘aﬁa#@aﬁ‘W/ﬁveﬁf | ‘
| ‘Don'’t leave blank page/pages in your answer-book.
. Waﬁ;gﬁﬁwe‘aﬂ%ﬁwaﬁs‘wsﬁaaﬁ@#ﬁ/ ST Wwﬁweﬁrﬁwaﬁrﬁ'

(N
Except answer—book no extra sheet wzll be gwen QWnte to the point and do not
strike the written answer. '

. Wmﬁewwvwww&r@@ e?araro Er}@ﬁﬁaﬁwe—w qra;ergg aﬁ‘ T
@ ot defor el @ G AT [l S AT T T R _

- Candidates must write their Roll No. on the question paper. Except Roll No ‘do not g

- write anything on questton paper and don't make any mark on answers of Objectwe
type questions,
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(2) 1229/(Set : D)
o TV T @ Fov 3% @ gF % GhRTT a5 T g7 7 @ & V??Efrai‘amsw
W#?ﬁ?#‘?waﬁmﬁwmf

Before answering thqfqueshons ensure that you have been supplied the correct and
complete question pdgver no claim m this regard, will be entertained after
examination.

() WW?W@‘%%WQ@%W’H@U@? G T @ T T AT TE

@ - o ¥ @ dE 1§18 7% 1 %wﬁa@ﬁvwvéﬁﬁaﬁ‘%(l 14)
&@ﬁwﬁawfﬁ@rwus 18) SIRFTF BT U7 SIRIRT 797 &1

Gz - a#wvﬁwlg g 25 %2 wﬁwﬁeﬁ@aﬁﬁvwv%
qvS - @ 7 I G 26 § 30 7% 3 FH T TG FTT T &
qUe - 7 F 57 G 31 B33 75 o A A Il T &

&S - 7 ¥ Jo7 G 34 07 35 4 G A A @S TR WA &

N

(i) T T Rar &

(iii) m#w#ww#.ﬁs‘@méﬁé?x TG TT G @ E@TJ#WWF{T#GW-'
= T B T 81 8 g I Re T T 3 3 o & T e &

 (iv) SgEeET 3 9vAT H SFT T &
(v) WWW@@@WW%W%WWW@WWW?

c= 3><108m/5m o =41x107"Tm A~
-. m )
h=6.63x10'3‘Ns 1 _9x10%Nm2c2
) ’ 47 €0 ; o,
e=1.6><_10"19_C " me=9.l>'<10"31 kg.
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Instructions :

: . ) N ; -
This question-paper consists of 35 questions, which are divided into five
[

Sections : ‘A", 'B', 'C', 'D', & 'E': ()

L

Section-A consists of Question No. 1 to 18-bbjective type questions of 1 mark
each, in which fourteen (1-14) are multiple choice type and four (15-18)
Assertion-Reason based questions. '

Section-B consists of Question Nos. 19 to 25 very short answer type
questions of 2 marks each. ‘

Section-C consists of Question Nos. 26 to(_go short answer type questions of
[ox

L'H-v

Section-D consists of Question Nos. 31 t?ss long answer type questions of
: o

5 marks each.

3 marks each.

]
Section-E consists of Question Nos. 34 & 35 case study based questions of
4 marks each. - '

All questions are compulsory.

There is no overall choice. However, an internal choice has been provided in
some questions of Section — B, C, D and E. You have to attempt only one of
the given choice in such questions. '

Use of Calculators is not permitted

You may use the following values of physical constants whenever

()|
ey

Ho = 47 x 107" Tm K,’l
, w o
i 3 o
= 9x102 NmPC 2

c=3><108m/s

1.
4m €g

me =9.1x107°1 kg

§ =6.63%10727 Js
esigxlore

BT D
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S c L
[ﬂ

™ SECTION-A
L

o [eRghTS a9 ]
[ Objective Type Questions ]
Rt agfmeha w1 & 14)08 wd Awey v -

Select the correct option of the fdllowing multiple choice questions (1 to 14):

U
1. SESNM WA & Wegh § FHA Af g S F omh 8 7 1
(A) T AR - (B) aghT Aol
(C) e Foft (D) Si&e Aefl
Which spectral series of hydrogen atom lies in the visible region ?
(A) Balmer sleries- - (B) Lyman sgries
(C) Paschen scries - (D) Bracket series
i
i
2. PPl Z QR i & TR X e R o B & 7 | . 1.
(A)  +Ze (B) - Ze
(C) [F D) +(Z-1)e
The net charge on an atom of atomic number Z as a whole is :
(A-)‘ +Ze EF - ST | (B) -Ze
S
: (40!
(C) Zero t?i (D) +(Z-1)e -
_ oy I
3. UF A S AEE (1u) $ aEK B @ | | 1
(A) 1.660539 x 102" kg : (B) 1.660539 x 10723 g
(C) 1.660539 x 10717 kg e (D) 1.660539 x 10713 kg
1229/(Set : D) %*‘»-.
-
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(5) . 1229/(Set : D)
One.atomic mass unit (1u) equals :

(A) 1.660539 x 107" kg (B) 1.660539 x 10 > kg

p2531752

(C) 1.660539 x 107" kg (D) 1.660539 x 103 kg

4, +1 pC 3R —4 pc%ﬁﬁgmﬂ@@%ﬁ(@mﬂwa@ﬁﬁaﬁ%mwwﬁﬁ

T 1 ST § ¢ g 1
A) 1:4 By .41

. o |
(C) 1:16 | (D) 1:1

Two point charges +1 uC and -4 uC are situated at some distance in air. The

ratio of forces acting on them is :

A 1:4 B) 4:1

5. ﬁﬁ@fzkgma%wé 1mﬁgﬁma€@%n ﬁﬁﬁﬁ’ﬁﬂﬁﬁ?ﬂw@m%?1
(A) 0.2 W , (B) 2 mW
€ 2W : : (D) 2kW
1 mA current is ﬂowmg through a conductor of 2 kQ resistance. How much

power is lost in it ? o4

(A) 0.2W PRI, %(E;) 3 mW
C) 2W i - L0 (D) 2 kW
6. 4kgqﬁri’rafﬁ%ﬁﬁ’r%aha 1szﬁwww%l sﬂﬁ%%ﬂﬁﬁaﬁmﬂ%

@WE? 1
(A) 3mA - | (B) 3A
(C) 4A - ey (D) 48 mA

1229/(Set : D) | ; A | - PATO,

o |
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(6) 1229/(Set : D)
A potential difference of 12 V is applied across the ends of a 4 kQ resistor. How

much current is flowing through it ? _
(N !

(A) 3 mA o (B) 3A
(C) 4A {g (D) 48 mA
(N
7. BN agF IR B R & a1y | o WW@I@H(IV)WW(WOH"")ﬁ
I T ¥ a9 1
I . T
.
o‘-! >V
ﬁﬁ(;;;[o To 7
(A] T1=T2 flj ~(B) T]>T2 .

(C) Tp>Ty- | (D) SR & T g 7k

The current-voltage (I-V) graphs for a given metallic wire at two temperatures
T} and Tg' are shown in Fig. (Q. No. 7). Then :
‘ I A T ' ;

T2

) |
Fig. (Q. No. 7)
L N _ T
A) Ty=Tp : . A (B) T1>T3

(C) Tp>Ty - S (D) None of the above

1229/(Set : D)
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a.m@sgam%gaﬁuﬁgﬁmﬂsmﬁm%: ' 1

(A) Am™2 i (B) Am™}

(C) Am (D) Am?

The SI unit of magnetic dipole moment of a bar magnet is :

(A) Am™2 of  (B) Am™?

(C) Am f:;; (D) Am?

L

9.maaﬁﬂwﬁa%gaﬁuqqﬁixweﬁﬁmgwaﬂaamrﬁwa% - 1

(A) pr=1+y B) pp=1+x>

g, 4
(€) Hr=y D) pp=1-%

'The relation between magﬁetic susceptibility y, and relative permeability p, of a
magnetic material is : :

(&) pp=l+x B e =142
1 3
©) pr=> | - (D) pp=1-%?

10. WWWR%mﬁamw:_rosmm %mww%wmwsﬁﬁw

feperT B % ? = | 1
2 _ .12
(A) IR | | (B) 21013
2 ' . 2
(C) 4IjR 20 ’(D‘) QIOR
&)

For an alternatlng current i= Iy sinwt ﬂassmg through a resistor R, how much

is the average power loss due to Joule heatmg 2

‘ - 1.0
2 = 1%=R
(A) IR B 5%

, ) .
(C) 4I§R . X (D) QIOR

1229/(Set : D) R T O

Lt
o g

Download from www.MsEducationTv.com (% Scanned with OKEN Scanner



.

Download from www.MsEducationTv.com

11.

(8) 1229/(Set :

Bl aofles LCR o # S B oy & 79 e &ar 8 7

(A) LC )
- LC
(0}

() JLC ™ D) ——
% ' JJLC

What is the value of resonant fréduency wg of a series LCR circuit ?

(A) LC (B) 115

(©) JLC | | (D) 7}-%
12. P 3 B 3 3 o v TR ® 7

(A) ST T - g (B) X-Rpot

() geEEB & (D) WA o

13.

21 l.":%

Which of the following have lowest wavelength in vacuum ?

(A) Infrared waves (B) X-rays
(C) Visible light waves . (D) Radio waves
60° & Hiftr T A R AR H AT ©
A) — - (B) —= -
A 3 - N ). V3
1 o 1
= D) -
(€C) 3 ‘E (_ ) =
The refractive index of a mediunfthaving critical angle of 60° is :
| J3 T . 2
(A N (B e
(A) 5 _ ]. 73
1
C) — (D) —=
© 3 V2

. ¥ i 'l‘
1229/(Set : D) ' %
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(9) 1229/(Set : D)
14. mmw%%mwmwﬁﬁﬁmx%lwm%mwﬂﬁ%mm&
1

h h

Ky L. - - B

= E - %5[ 2K
oh | h

N - [D?? J2mK

=
K'is the kinetic energy of a moving partlcle of mass m. The de-Broglie wavelength

A associated with this particle is :

h . ' ' h
(A) = o 1B o
oh - ' _‘ . h
TR (Dg?ﬂ J2mK
) |
15. Freffad Fo # ey oy oy {i 1
AREE (A) : mqqm%quﬁmnm%eﬁamaﬁqﬁﬁwaﬁq@mﬁ
, ..ﬂ;.%
LAY

| W(mzw%a@ﬁws@ﬁﬁwm%aﬁamﬁaﬁwmw%a
Frerier Rt 3 3 o g

(A) SR (A) T FROT (R) AR T ¥ GO BROT (R), STREBE (A) F T TEFET B

(B) R (A) T HTT (R) A 6 &, AT F (R), P (A) & w8 T
T B ‘ | o | '

Le)
(C) afBe (A) T B, ARBT BT (R) oT6d B
(D) R (A) T HROT (R) AT oy ¥

1229/(Set : D) P.T.O.
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(10) 1229/(Set : D)

Read the following statementsl carefully :
e

Assertion (A) : The resistw;%y of a n-type semiconductor decreases with an

increase in tﬁmpm ature
r J

Reason (R) : The rate of collision between free electrons and the ions increase
with an increase in temperature.
Select the correct answer from the optlons given below :

o
(A) Both Assertion (A) andfr',ﬁeason (R) are true and Reason (R) is the correct

explanation of Assertiorf{A).
_ . - <
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Both Assertion (A) and Reason (R) are false.

16. TR @R B EEF R g
S (A) : Rl g e o R e o F F g
T (R) : Pl % onderes ) ST Y 3 9 T A A v # o 20 ¥
et Rl 3 A e o R | |
(A) SRR (A) T FR (R Q%W%WW(R) SRR (A) F S e B

(B) SR (A) T F R)??rﬁw% At T (R), SHT (A) B FE ETET
g R |

(C) W(A)w% AT B (R) amm%

\

(D) SRR (A) T T Rﬁm%’

1229/(Set : D) - gg a i

|
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Ay e 1229/(Set : D)

Read the following sta’cemeﬁts carefully : N

. . @ . . . . '
Assertion (A) : The electrical conductivity of an pintrinsic semiconductor

increases on doping, - ‘;-;
Reason (R) : Doping always increases the number of%lreé electrons in a pure
semiconductor , '

Select the correct answer from the optlons given below

(A)- Both Assertion (A] and Reason (R) are true and Reason (R] is the correct

explanation of Assertion (A). _ kA g
(B) Both Assertion .(A) and Reason (R) are true, buj Reason (R) is not the
_correct explanation of Assertion (A). ' (Lf\]"f .
-~ (Q) lAssgrtion (A) is true, but Reason (R) _'is false. a

(D) Both Assertion (A) aﬁci Reason (R) are false. " -
i

aﬁwm maﬂam&rwﬁ%aﬁﬁmmgﬁmm%mwmﬁﬁ@m%
- q S O A

_'W(R) mm%ra{qaﬁﬂmﬁﬁmavﬁaﬁ( )%ﬁmﬁr—«r%m%t-

e Rl § ¥ pERS: |

@A) W(A)HW(R)MW%WW @W(A)wa@m@w%

L@ W(A)HW(R)ﬁW%WW(R) HW(A)HE@WW"T;@
B

' o N
- © eﬁiﬁaﬂ(A W%WW(R)W%, S =
(D)I'W(A]WW(RJﬁW%I |

122_9!(Set” :D) - P.T.O

‘ z -i s ﬁ :
e
s
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Read the following staterments carefully : '
™M

Assertion (A) : When aYarrow beam of white l1ght passes through a glass
pnsm it Wndergoes dlSpBI’SlOI’l '

Reason (R) : The refractive index of mechum for dlfferent wavelengths (COlOUTS)
is different. :

Select the correct answemfrom-the bption's given below :

l\ 2
(A) Both Assertion (A) fhd Reason ( R) are true and ReARGE (R) is the correct

explana’aon of Asserdjon (A).

(B) Both Assertion (A) and Reason (R)'-are true, but R_eaéon’ (R) is not the
correct explanation' of Assertion (A). |

(C) Assertlon (A) is true, but Reason (R) is false

(D) Bath Asscrtlon (A) and Reason (R) ‘are false "

'eqﬁamm) wvﬁwsrga%ma@wwwqﬁaaﬁﬁmwﬁmmﬁﬁ
- et it J fereRer (Bre) g 3 -

 FHR (R) mwa@%wﬁmﬁ%ﬁmmﬁm%m@ﬁﬁww%

. 'ﬁsﬁmmﬁaw%gﬁq o gk |
(A) SR () T BT Rh‘q’ﬁfm%amw ®), aﬁm:r A)EFJTH‘E?IWE;;@T%;

(B) W(A)awwﬁw% aﬁWW(R) aqﬁqse:r:r A) F T e
T-ré’f%r o .

©) e () T ?ri%h—vrw (R) o/ 3|
(D) e (A) T FRO (R) A o B

1229/(Set : D) L ﬁ

_—
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(3 . 1229/(Set : D)

Read the following statements carefully 1~

Assertion (A) ; The photoelectrons proghuced 'by a monochromatic light beam
| -incident on a metal siface have a spread in their kinetic

. energies.

Reason (R) : Work function is the least energy required by an electron to come

out'of the metal. . -~ g _
Select the correct answer from the: optid%s given below :

(A) - Both Assertion (A) and Reason (R)t%re true and Reason (R) is the correct
explanatlon of Assertion (A). Q " . '

(B) Both Assertlon ('A} and Reason. [R] are true but Reason (R)'is not the |
- correct explanation of Assertion (A). ' '

(C) Assertion (A) is tfue, but Reason (R) is false.

(D) - Both Assertion (A) and Reason (R) are false.

s -
SECTION-B -
[ g Sl T ]

. [ \fery Short Answer Tybé Questions ]

19,~'e@mm%ﬁwqﬂnﬁmﬁ§ﬁm£ —E—éeV %|§chrffsﬁ

_zﬁﬁhﬁwﬁﬁaﬁuﬁﬁwﬁaﬁrmmaﬁﬁm LI TR

Q S :
‘The tota_l energy of the electron in “the .nth orbit, of ‘hydrogen atom’ is

i 13.6
Bn ==

- 1229/(Set:D) - . ﬁ | - P.T.O

eV . Calculate its kinetic and potential energies in thls orbit.
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20.

21,

22.

H@eﬁﬁgqﬁs@taﬁﬁ%amaﬁ A T S B STE AT T A

¥ ey e | Lo | 2

N
Define relaxation time of frée elggtrons in a metal. Write: the relation between

drlft velocity of free electrons and their relaxatmn t1me

TA-TEE & Fr A R aRa oReie #iftm _ - 2
State Biot-Savart's law using a 'diagram. : |

i.‘ewaT
™

Iy
NOR

A

'W%Wﬁmﬂqﬁﬂﬁﬁmﬁﬁﬁwé@uﬁmn v, L B

~ State Amper_e s c1rcu1ta1 law an_cl explaln it briefly using a diagram.

™

%aﬁeﬂwwmﬁrmﬁmwwii%ooﬁ% 2200 dE |
ﬂﬁaﬁ%ﬁmm%lzzoaﬁﬁﬁﬁaﬂﬁﬁm %f‘m%‘cﬁmﬁﬁﬁmﬁﬁ@ﬁ

aRg? | A | . 2
A power transmission 11ne feeds 1nput power ‘at 2200 V to a. step down
transformer with its prlmary w1nd1ngs havmg 4000 turns. What should be the

'nUmber of turns in the. secondaryc.{]n order to get output power at 220 V ?

PW

gon

3op1='$rq35esrrﬁsr220v 50Hz@ﬁﬁ®aw%lmmﬁmﬁsﬁqqﬁwmm*

Hﬂ[f%ﬁaﬁaﬁﬂmﬂrms Fﬁﬁlﬁﬂﬁﬂll-

- A 30 pF capamtor is connected to a 220 V, 50 Hz source, Fmd the capacmve -

reactance and ‘the rms value of the Current in the c1rcu1t

1220/(Set:D) . ﬁ
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(15) | 1229/(Set . D)
23. I TE T 7 T R A R ? 2

What are electromagnetic wa?ﬁs ? What is their nature ?

N ; :
N
24. 1.5 SUEHIH 3 T o6w @ B ag A B g0 15 4N Bl T 4/3 IS & 5 F
g W gu W gl Rea @ ? 2

A convex lens of refractive indgx 1.5 has a focal length of 15 cm in air. What will

be its focal length when it is g:hmersed in a liquid of refractive index 4/3 ?
38

25.Waﬁamgﬂie¢mﬁzﬁwm%ﬁwsm . | 2
Explain total internal reflection by a ray diagram. |
gUs -4
SECTION -C
[Tg ST 997 ] |
| [ Short Answer Type Questions ]

26. FIEY B TR Y & IAFEN faag) | i

State Bohr Postulates of Hydrogen atom.

27. ﬁaﬁgﬁﬁ%‘mm%ﬁwmnsﬁﬁmmmw&swmaﬁ%.
T M S % OfER gy 8 O e g . 3

State the Gauss's law of electrostatics. Using it prove that electric field ms1dc a
unn’ormly charged thin sphcrgk#al shell is zero.

{}3 ST
N N
| _ - OR _
a) foEm dw § fod foig X Reray fawa & aRwif¥a #ifvm .

Define electrostatic potential at a point in an electric fleld
byt i .

1229/(Set : D) P.T.O
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28.

29.

30.

- 1229/(Set : D)

(b) 600 uF 3 Bt daRa 3 10 v @ Yed & omaR fEr T B genf # @ g
Rer g Sl el @ 7 2
A 600 pF capacitor is charged by a 10 V battery. How much electrostatic

N

energy is stored in the capacitor ? o

[--.

)
& FHl-HaE i Slasgﬁaﬂv—rra@ﬁqarﬁiﬁrﬁgq-{ﬁwmmw y, =acosot Tl
yg—acosmt+¢ 2 e @I & & TS awﬁwéwﬁgwqﬁvﬂﬁﬁﬁ’lﬂm
I =4a? cos? (0/2) a1 B 31 _ | 3

Show that the superposition of two waves or1g1nat1ng from two coherent sources
S, and S, and having displacements yl =acoswt and Y, uacos(cJt-kd)] at a

pomt produces a resultant 1nten31ty I =4a? cos* (¢ /2).

fergq wRow % fheers @1 Fram fafaw

Write Kirchoff's Law of Electrical Circuit.

92 "

D2537

et

OR

wwmmﬁw[mmw%mﬁawmmm%mmm
ERIE , ey | 3

Write the principle of meter bridge. Draw its circuit diagram to determine the

,value of an unknown resistance. "
O‘\

mﬁﬁﬂawmﬁwzﬁmﬁwwwﬁwmwlﬁ 5

SeBISl-RE, FHITCT ST B TR = 3

Draw a graph showing effect of frequency of incident radiation on stopping
potential. Explain it by using Einstein's photoelectric equation.

1229/(Set : D) Vs %
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(17) 1229/(Set : D)
gUs -8 |

[N
SECTION - D
™M

[ & sl o |

[ Long Answer Type Questions ]

31. mwﬁwsﬁﬁﬁﬁamﬁmmwmwwmmmﬁm
ﬁqﬁﬂﬁaﬁﬁqwsﬂ%mm@%ﬁ@m- | ; 5

- Draw a labelled ray diagram L@howmg the image formation ih a compound

m1crosc:ope and explam it. Deﬁne its magnifying power and write expression for

it.

3T

OR

ﬁﬁ&ﬁﬁﬁﬁ%@ﬁﬁﬂﬂﬁ?ﬁqﬁiﬁgaﬂ%wwwmww|m
WW%WWW@%WWWl | 5

C\]
Draw a labelled ray diagram %howing the image formation in a refracting

astronomical telescope and: explain it. Define its magnifying power and write

expression for it.

1229/(Set : D) | ﬁ At | P.T.O.
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32. %ﬁeﬁpnaﬁm%wﬁﬁ%aﬁqﬁﬁMWﬁwaﬁﬁmﬁ%@ﬁmﬁﬁa
WRey TG ) e @ aEEY A 5

Draw the [-V characteristics of a p-n junction diode in forward and reverse bias.

Explain them using appropriateircuit diagrams.

HYAT

 D25379

OR

Rl 1 8T § 7 0% T Redrd @ IRy o s Ew e M awr Rl
Qe & TETEY B FHIARY) 5
What is a rectifier ? Draw the circuit diagram of a full-wave rectifier. Explain its -

input and output voltage waveforms:

33. WWW%%W#W| g&ﬁ@%ﬁ%ﬁww%?aﬂﬁzﬂm
gaie &1 o fafew o i 5
Write the principle of a moving coil galvanometer. How is it converted into a

voltmeter ? Write the expression for its vblt_age sensitivity, -~

gamar

t~ OCR

0
WWW%WQW|QWﬁ%@WW%?MW
e @ o fafeu . . 5

Write the principle of a moving coil galvanometer. How is it converted into an
ammeter ? Write the expression for its current sensitivity.

(]
by

1229/(Set : D) SR -
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b
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)
[ Case Study Based Questions ]

34. WW(W#WWMW/@#@W#%WW

JIBT TR T BUS FH AT F R qﬁ%@AWa@m%ﬁﬁﬂwﬁw
'W%B%qﬁmwﬁsm%ﬁﬁﬂéﬁﬁa (o Ho 34) A & & A oA
el G T 0 ﬁwmaﬁa@aﬁﬁw&%ﬂ%

=
b= [B.da

%

Wl

v,
dA
ﬁﬂ(ﬂOﬁoS‘l-)
| q@ﬁmﬁwﬁ%mmw%@wﬁmﬁw@ﬁsmmﬁ@ﬁﬁawww
| %mqﬁaﬁﬁ%%ﬂﬁﬂﬁﬁﬁﬁga%mﬁﬁﬁaéﬁ%%%aﬁﬁﬁ&ﬁﬁ

T fom & w0 A I R PR SE W Sy R @ Prm wed €1 36 Pam @
TR & § fre R Qo R o '
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(9)]
dt[\

o £ IRa g deF a9 & a1 R R 6 iﬁﬁaﬂwqﬁ‘mﬁ dc qu 7 IR g A
ﬁsnwm%lwwaﬁégqN%ﬁaﬁﬁﬁaﬁ%mﬁﬁwwﬁwm
qﬁaﬁatﬁm%isﬂmﬁrﬁﬁﬁﬁmmwﬁmﬁﬁm.

-
dt u';”

REIS W%@ﬁﬁwgﬁaw%p

Read the following paragraph and answer the questions that follow :

Magnetic flux and Faraday's Law of induction : If a magnetic field has
different magnitudes and directions at various parts of a surface Fig. (Q. No. 34),

then the magnetic flux through the surface is given by :

(5 ¥ 0

_.>
WA
Fig. (Q. No. 33;)

On the basis of experimental observatlons Faraday concluded that an emf is
induced in a coil when magnetic flux through it changes with time. Faraday '
stated his conclusion in the form of a law called Faraday's law of electromagnetic
induction. This law is express‘ed mathematically as :

S

Download from www.MsEducationTv.com (% scanned with OKEN Scanner

1229/(Set : D)




o (21) 1229/(Set : D)

= __ddgp
e dt

where € is the induced emf au(f?zl the negative sign indicates the direction of
induced emf € and hence the direction of induced current in a closed loop. In the
case of a closely wound coil of NV turns, change of flux associated with each turn
is the same. So the total inducedo\%:mf is given by :

™
g-Nl
Here ¢p is the magnetic flux ass%ciated with one turn of the coil.
() G v R e ? | | | 2
What is Magnetic Flux ? ,
HYTT
OR
1000 &3 Al Heeht & Rl & €9 2 V &1 fagq ae® ad@ (emf) MG oar B 0%

X F ATET 10 cm? Bl g 8 gee X PR 2

An emf of 2 V is induced across the ends of 1000 furns coil. Ares 6f each
turn is 10 cm?. Determine at which rate the magnetic field is changing.

(i) ®® &% A H TF FHR I PQRS Bl W WX F da@ oMY A
(R Wo Ho 34(ii)} T THE YIHE &9 B W N ¥ I6 =T PORS ¥ dow

£ 4 e
EEEIR I SET] | ’ § o 1
(I ]
o N
- 5B
N
I
S R
{fem 9o Ho 34(ii))
(A) 1/2BA (B) BA
€ O | s (D) 2BA

1229/(Set : D) . . P.T. 0.

Download from www.MsEducationTv.com (% scanned with OKEN Scanner



(22)

1229/(Set : D)

: . =)
PQRS is a square sheet of surface areg A. A uniform magnetlc field B
parallel to plane of PQRS acts only im half of the I‘C?glOI'I as shown in
(Fig. Q. No. 34(ii)}. The magnetic flux lirfked with PORS is

3 4
=
S R
{Fig. Q. No. 34(ii)}
(A) 1/2 BA (BL BA
€) 0 (Icﬁ;% 2 BA
o

(ili) P FIHA F SI AED ¢
(&) W - (B)
Q) @Es (D)

SI unit of magnetic flux is : 7
(A) Tesla , (B)

W

Gauss

-(C] Oersted (D) Weber

35. 77 9gT (Ers) @ 9T Tur 9% ST /9 T g9 & Fav o

Rgg &7 e : Reg ¥ Yard orRet & e & At o Ry a9 3 Reme e
F TF SUF Bl Ah TG H, fgg & @ & U a% o ® e Bl o Ry wod
T @l (tangent) 5§ Rg T e Ry 1 A R H Fref B ¥ Py 8 W
mﬁaiﬁ(spacecurve)'@?ﬁ%l ﬁﬁwﬁgﬁq@ﬁmﬁa%mﬁ%mﬁma@rm

(o Faee) o Rigel W Rgg 89 E & omiRmaAee @ dh b 31 g 8 0
R A ST AT RN W A ¥ el o g A Ry A Yaet @
R G A o G B o T e R A Yt o) qu A8
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Read the follo_wing paragraph and answey~the quest.ions that fdllow-:

_ m
Electric Field Lines

: Electric field lﬂes are a way of pictorially mapplng

electric field around a configuration o@ charges. An electric field line is in

general, a curve drawn in such a way that tangent to it at any point gives the
direction of the net electric . field at that(\bomt An electric field line is a space
curve. Relative density (i.e. closeness] qf~ electric - field lines at different pomts"

1nd1cate the rclatwe strength of electric ﬁtpld at those pomts Electrlc field lines

start from positive charge and end at n%gatwc charge. In a charge free region

electric field lines may be taken to be contmuous curves without any break.

Elcctrostatlc field lines do not form any clcsed loops

(i) ﬁaﬁtﬁﬂ%@aﬁ%a}m%@ 2
Write two propertles_ of El'cctric Field Lines.
1
_ o : OR
REg & 71 R 7 g A Rl 5
What is Electrlc F1e1d ? Write its umt
(i) mwaﬁﬂ%wiﬁgﬂ&ﬁ%@@@?ﬁ% .
(A) FOER, aHET mtB gmmerféwnaﬁ
(©) B, siadr '- (D) e, Eﬂ%ﬁeﬂ
Electrlc field lines about a pos1t1ve pg:nt charge are
~ (A) circular, ant1c10ckw1se _‘ (B) circular, clock\mse
(C) radial, inward e 0] radial, outward
1229/(Set : D) - P. T'.-O
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(iti) R o Ho 35(111)} T fedr ﬁ'—'@ﬁ\ 8

£

NA~ B L C
15 S
REl (o Ho 35(iii)}
(A) Ep>Eg>Ec g (B)
() Ba=Ec>Ep. ),
¥ 4

89 [@rel & aA T Bl AR E,, Ep
@R Eg WQTABacﬁgaﬁﬁﬁga F e &, q
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1

Ep=Eg=E¢

'EA¥E¢<EB

F:g {Q No. 35(111)} shows %bme of the field Imes COI‘I‘CSpOI‘ldlI‘lO‘ to the

_ electrlc field. If EA, EB and Ec be the electnc fields at pomts A, B and c

respectwely, ther

| AL

>R se
Flg {Q No. 35(111)} |
'(A) -Eq>Ep>Ec ® EA EB' Eos
-EA=EC;EB'-I EA:EC<EB m-

© )

.D253792f'r |
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